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Zo.0062 = 2.5 7 Zgop5 =1.96 * g5 =1.645 > 251 =1.28 > Zp1587=1.0 * Zp2743=0.6 > Zp3085 = 0.5

to.0o58 = 2.306 * tgop59 = 2.262 5 tg0p510 = 2.228 > tg2511 = 2.201 > tg 00525 = 2.060 ° tg 2526 = 2.056
to.os8 = 1.860 > tgos50=1.833 » th0510=1.812 > th0511 = 1.796 * to 0525 = 1.708 > tg 0526 = 1.706

X(2).025,2 =1.378 > X(23.025,3 =9.348 - X(23.025,4 =11.143 > X(2).025,5 =12.833 > X(2).025,25 =40.647 >

Xg.ozs,ze =41.923

Xé.os,z =5.991 > x§.05'3 =7.815 > XS.05,4 =9.488 > x(2).05’5 =11.070 > Xé.os,zs =37.652 > Xé.os,ze =38.885
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X(2).975,2 =0.0506 - X(2).975,3 =0.216 > X(2).975,4 =0.484 > X(2).975,5 =0.831> XS.975,25 =13.120 - X(2).975,26 =13.844

I:0.025,1,10 =6.94> Fo.ozs,z,g =5.71> I:0.05,1,10 =4.96 > I:0.05,2,9 =4.26 > I:0.1,1,10 =3.285> Fo.1,2,9 =3.006
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( )=P( ) 4 +10°
B ORET - B 13.79% ] ESHHE
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= P(Z > 2.5) = 0.0062
0.1x 0.2743

=0.831
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E, =nP(X <20)=nP(Z <-2) =600(0.023) =13.8
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E, =nP(60 < X <80) =nP(0.22 < Z <1.33) = 600(0.908— 0.587) =192.6
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